TNPSC - Aptitude Tamil QA

Answers given at the end of the page. or click on check answer link

1. ¢1.30,00 eremm Qsmenss @, <, amiqnH@ 7% dal () aul iy aldlgs5de eTgsamen 2, am(hsafled sl (h eul_ly op. 4,347 2 @Lb.

oo op

2 oy 6007 (h& 6T
2 Yo o er(h&er
3 T (h& 6T
4 oy, 6007 (h & el

Check Answer

2. X,Y,Z saflsgal Cw ¢m GCauamaent (1plg&s 6 wenl G , 4 anllCHrw, 12 wanllCrrw, eThsgs Qamardamerny. epelmd Carbg ieuGaiamaeanw

P85 ereucuare] GBI T(hE51& Cl&merelf?

oo op

3. Goul g ggieanr( (pie) cuanyLLGHlem LIFILOTERTLD 6785 en e ?

a
b.
c
d

4. A eratieury B et sCangyen. C ereruieuf Bullen sHens. D eramuieu C uflen sHeng erarmmed A eremiieury D udler

oo o p

5. aupL &S M@ 18.75% cram eratlw el g eN&lgs5le0, Cgmensswimeang) eTésenen a(hLmigaled @ riq liLim@Lh?

oo op

6. &1

3 wentl CH b
5 wenfl GB7Dd
6 wenfl CB D
2 weanfl GByDd

Qe
e eI
&) et (b
LG

LImL_lg-
LITL_L_@oT
LD & GOT
Guyen

4 2, eT(H&ET 5 DTG MG ET
5 ,@T(H&ET 4 DTS HI&ET
6 <24,600T (N&ET 2 LDIME MBI & 6T
6 24,607 (N&ET 5 DTG MG 6T

bba Cab

oo op

bcacb
babcc
abcbc
achcb

Check Answer

Check Answer

Check Answer

Check Answer

Check Answer

7. Gaus HMID &LO% A,&lw @) (meurlen euwgisatier allgsid 2:3. 12 <y 6 (hsEhs @ nE eufsaflen euwgl aldlgid 11:15 erafleb &HLSlSH6m auwig)

oo o p

8. A a1 20% = B opmitb B e 40%= C erarfled (A+B) —eir 60% s mamr

oo o p

9. e GO L Qgmengwimerg) 8% cully cigdHled 5 <y arr(hisafleh ¢n. 10,080 8 ma). HFMOE &TEHTS.

oo o p

10. e NSl Epmi erasmanemr 5/2-60 QL& cuLd GUHESDHLILEIL 6T 2/3 88 gl lgems -7/12 &lewTL&@HLb erer b DjeueldlGpm eTeuwr 6Tg)?

oo o p

11. (0.756 * 3/4) &5 soLOMETG) 6T8)?

a. 18.9%
b. 37.8%
c. 56.7%
d 75%
X
12. =1 credfl a0, X-60T L&) LIL] GTEOTL
125 gl gl
a. b5
b. 2
c. O
d 3

13. (1 LGS (WPECETaTSE 6t LiGs Sjema| 35qrtd GF.5 crarlled SiFem G5 WSS 6T 66y eTemLig)

oo op

14. 88-6) eu@GHULS ol WOsL Quflw e @ ev&s cre erg)?

oo o p

32 o, emr(h& 6T
42 oy en0r(h & e
48 oy, eu0r(h& e
56 607 (& 6T

30% of C
60% of C
75% of C

@ eummIeT 6Tgle|Ldleenad

6. 7,200
er. 7,000
6. 6,200
ers. 7,300

-3/2
3/2
1/2
-1/2

4.5 Q&8
5.5 Q&8
10.3 Q&5
9.6 Q&..8

9944
9768
9988
8888

Check Answer

Check Answer

Check Answer

Check Answer

Check Answer

Check Answer

Check Answer

Check Answer

15. @ Ser&EsGaHmerpLd, FalbLb Cr g lILGsSamg ©l& mer (heTeaTen. jeumler 2 WFIpLd FOL eretled jeummdlen eueameruFliber &gl eremen?

a. 1.2

b. 2:1

c. 1L \/§

d  v2:1

Answers

1. 2 oy, 6007 (h & 6T

2. 2 weanfl GByDd

3. @) vt (b)

4. Guiyeor

5. 5 y,ear(N&ET 4 DTG b1 & 6T
6. acbcb

7. 48 o, 60 (h &6

8. @ eummieT 6T 6Ll bened
9. em. 7,200

10. -1/2

11. 56.7%

12. 3

13. 4.5 Q&8

14. 9944

15, V2:1

Check Answer


https://www.easytutorial.in/question/47811
https://www.easytutorial.in/question/47812
https://www.easytutorial.in/question/47813
https://www.easytutorial.in/question/47814
https://www.easytutorial.in/question/47815
https://www.easytutorial.in/question/47816
https://www.easytutorial.in/question/47817
https://www.easytutorial.in/question/47818
https://www.easytutorial.in/question/47819
https://www.easytutorial.in/question/47820
https://www.easytutorial.in/question/47821
https://www.easytutorial.in/question/47822
https://www.easytutorial.in/question/47823
https://www.easytutorial.in/question/47824
https://www.easytutorial.in/question/47825

